& % 8ay - 4y 9] A47} obd AL

@ xy(2x-1) @ 4x ® 4y
@ x(2x-1) @y(2x +1)

8x2%y — 4xy = 4xy(2x — 1)




2. Q5B x4y =31 x—y=11 L 0Lk (x2 - dx + 4) -
(y* -2y + 1) 9 = Fstofet,
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(¥ —dx+4)- (> -2y +1)
=(x-2?%-(y-1)
={(>:-2)+-D}{>x-2)-(-1}
=(x+y-3)(x-y-1)

O|BE x4+y=231, x—y=11 5 JY5IH
(P —dx4+4) - (P -2+ 1)
=(31-3)(11-1) =0.1x10 = 1 ©]t}.




® 2m

m+n=XZ x|3s}H

X% - 2mX - 8m? = (X — 4m)(X + 2m)

m~+n—4m)(m + n + 2m)
= (n—3m)(3m + n)

" (n=3m)+ (3m+n) =2n

= (
= (




4.

xy—x+y-1=(x—a)(y+b)7} 4%
2k (9, b < 0)

&, a+ b g 75k

y- 1= X2 A8
xy—x+y—-1=xX+X=X(x+1)

=@+ -1
La+b=-2




5. x*+3x=5L T, x(x+1)(x+2)(x+3) -3 o F=2?

@® 21 @32 ® 60 @ 96 ® 140

(x24+3x)(x2 +3x+2)-3=5(5+2)-3=32




6.

(x=1D)(x-2)(x+1)(x+2) - 10 A5E3sHA?

O (2-1)(x2=6) @) (2 +1)(x*-6)
® (x>-1)(x*>+6) @ (2+1)(x2+6

® (x?-1)(x*-5)

(2—1)(2-4)-10 = x* —5x2 +4-10
=x*-5x>-6
= (x2+1)(x*>-6)
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x+1)(x+3)(x+5)(x+7)+a
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> Het: a=16

B

(F=A) =x+1) (x+7) (x+3)(x+5)+a
= (x2+8x+7) (x2—|—8x+ 15)—|-a
x2+8x=A 2 *|35lH
(EFA)=A+T7)(A+15)+a
=A%2+22A+105+a
= (A+11)% = (x +8x + 11)°
112 =105+a
a=16




8 (x-2)x2-3(x-2)x-10(x-2) & JsEslotA?

@) (x-2)(x-5) (x+2) @ (x-2) (x+5) (x+2)
® (x=2)(x=5)(x+3) @ (x=2)(x+5)(x-2)
® (x=2)(x+5)(x-3)

B

A=x-2 2 A5
(x=2)x>=-3(x=2)x-10(x-2)
= Ax? - 3Ax - 10A

= A(x® - 3x - 10)
=A(x-5)(x+2)
=(x-2)(x=5)(x+2)
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10. oA x(x+3)(x+4)(x - 1) + p 7} A FA 0] HEF 5= p 9
= Fstofet.

> E:

> He: p=4

B \

x(x+3)(x+4)(x-1)+p
= (2 +3x)(x2+3x-4)+p
X2 +3x=A 2 x5}
A(A—4)+p=A2—4A+p
A2—4A+p=(A-2)?
Lp=22=4




